Vidar Christiansen

Econ 4620 Public Economics A08: Seminar assignment for week 37

Problem 1

Suppose that a person freely chooses how much labour to supply in a perfectly competitive market. Assume that the person earns a wage-rate equal to 200 and faces a tax rate equal to 0.4. 

What is the 

a) loss of output value, 

b) private income foregone,

c) net private loss (of utility)

d) social loss

if the person withdraws one unit of labour (for some exogenous reason.) 
Explain the results. 

Problem 2 

Set up the simplest possible one-period model that you can think of in order to demonstrate distortions caused by an excise tax on a consumption good. You may assume there are no other distortionary taxes. 

Also explain the distortions verbally.  

Problem 3
Consider the following economy. A fixed amount of capital K is available. An amount v of an intermediate good is being produced by means of k units of capital. The production function is v(k) where v’>0, v’’<0. An amount x of a single final good is being produced by means of the two inputs, i.e. the intermediate good (v) and capital (z). The production function is x(v,z) with standard properties. The resource constraint is K=k+z. There are no externalities. 

a) Explain what the socially efficient allocation in this economy is, and provide a mathematical characterisation. 

Denote by q the price of v, and by p the price of x, and let t be a specific tax imposed on purchases of v. 

b) Assume that the producers (one in each sector) are profit maximising price takers, and derive profit maximising conditions. 

c) Explain the distortion that occurs in this economy. 

d) In Norway users of electricity pay a tax. Discuss the relevance of the analysis above for assessing the electricity tax.

Problem 4
Define the following concepts:

a) Lump sum tax

b) Poll tax 

c) First best allocation

d) Second best allocation

e) Tax wedge 

f) Tax distortion 

g) Marginal tax 

h) Deadweight loss (excess burden)

i) Illustrate a deadweight loss (excess burden) in a figure.

Problem 5
Suppose that a political goal is to improve the standard of living of a group of consumers. To achieve this goal it is being proposed to subsidise a consumption good. 
a) Analyse the effect of the subsidy on the group in question. (You need not consider how it is financed.)
b) Suppose an economist argues that the subsidy is a poorly targeted instrument. How would you interpret this statement? 
